>
A 2 0 & At H Al A
20209 &= =0l &t LBl A AbChztel
AtChate| ot
AP EHXI 2te]
ArAEX =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
22l ot 27,513,900 42,060,900 A 14,547,000
< 7,228,000
Al 20,285,900
A X 2e 27,200,500 34,526,500 AT,326,000
< 7,228,000
Al 19,972,500
MAEI =4 26,651,000 34,199,000 AT,548,000
< 7,168,000
Al 19,483,000
JISESZMEAY XA 83,000 24,000 59,000
201 Let24E] 8,000 8,000 0
01 At 22l 6,000 6,000 0
O gBt+=&H| 5,000,000& 5,000
o=t 1,000, 000& 1,000
02 2324l 2,000 2,000 0
oz22< & HA 2,000,000& 2,000
202 Odl 12,000 13,000 A 1,000
01 = LH 4 Hi 12,000 13,000 A 1,000
OAHER 22 g2 =& 12,000,000& 12,000
203 R =&t 3,000 3,000 0
03 A Z=XH R =AY 3,000 3,000 0
ONMUESRES U el Y2 =X
3,000,000& 3,000
308 XX EHSOIA 60,000 0 60,000
10 3| 2SOHUHSZAEEALS I 60,000 0 60,000
ODIHNSI RFSAHS & As X
60,000,000& 60,000
S YBMAR =4 17,168,000 34,175,000 A 17,007,000
< 7,168,000
Al 10,000,000
401 Al HIZ 201 I 17,168,000 34,175,000 A 17,007,000
< 7,168,000
Al 10,000,000
01 A& HI 17,128,900 34,100,000 A 16,971,100
OB (EI3MR0)LBHAA ST =4
17,128,900, 000& 17,128,900
< 7,168,000
Al 9,960,900
03 Al S THHI 39,100 75,000 A 35,900
OB (EZ3MR0)LBHAA ST =4
39,100,000& 39,100
MEAS LEHAACHR =4 7,500,000 0 7,500,000




SA Mol

M MTHR 22

el MBI F4 CER-ED
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
401 AlEHIZL 2 0HY| 7,500,000 0 7,500,000
01 Al&H| 7,482,750 0 7,482,750

ONBNE LPMAET T4
7,482 ,750,000& 7,482,750
03 AlE 201 Y| 17,250 0 17,250
OMIBANE LBHAACET] XN 17,250,000 17,250

2Y O|=THX MNUEZ2 W (=E=22-25H) 1,900,000 0 1,900,000
401 AlEHIZL £ 0HY| 1,900,000 0 1,900,000
01 Al&EH| 1,900,000 0 1,900,000

O2Y0THR HNAUZ2 WL (ER22-254)
1,900,000,000& 1,900,000
AP CEX] 22 549,500 327,500 222,000
& 60,000
Al 489,500

AP S L BEATCER] 22 149,500 127,500 22,000
101 Q124 H] 9,500 9,500 0
04 JI2ZtHIZ22NEES 9,500 9,500 0

OANHELBLAFACET] 8 H HH| 9,500,000 9,500
201 2Et24A Y| 48,000 48,000 0
01 AP 22| d| 8,000 8,000 0
Ogt4L2Y| 8,000,000& 8,000
02 24| 40,000 40,000 0
02222 ¢ HMA 35,000,000 35,000
O A& & H| KX 4| 5,000,000 5,000
308 XX SHHSOIH 50,000 50,000 0
10 B 2SUHUSHEAEAE AT Y| 50,000 50,000 0
OLBFAACHT] 222 HEAISE Y|
50,000,000 50,000
401 Al HI L 2 0HHI 42,000 20,000 22,000
01 A& H| 42,000 20,000 22,000
OAMNIELEBAACEI] AIE2 AHHl 20,000,000 20,000
OMEYLBAE AWAASMY HE 2
22,000,000 22,000
AR J|IEEA IS AS 200,000 200,000 0
& 60,000
Al 140,000
401 AlEHIZL 2 0HY| 200,000 200,000 0
= 60,000
Al 140,000
01 Al&H| 200,000 200,000 0




SAH: dcae D
M poicx el
SHol: AHEHX B EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAE M2 BHAFACH] LEDIIZ2 S WM AL
200,000, 000& 200,000
= 60,000
Al 140,000
SES 2SS He=EXs2 A= 200,000 0 200,000
401 Al HI K 201 I 200,000 0 200,000
01 A& HI 200,000 0 200,000
OgES 2t AHE=sXa 2 &=x
200,000, 000& 200,000
HREs(atet2e| ) 252,000 7,473,000 AT,221,000
HEHHX = 252,000 7,473,000 AT7,221,000
Bt HEES 252,000 7,473,000 AT7,221,000
701 JIEtSI HEHES 252,000 7,473,000 AT7,221,000
01 JIEtZIHEES 252,000 7,473,000 AT7,221,000
OssHANSEH HES 252,000
ocYENMsSHA HHAMeIANE SN2
clgl XI& 48,000,000 48,000
CSUSTENL 2HA AYIIBAIE T A
& 152,000, 000& 152,000
ocYENMsSHI HHAXMANE E=3
At 30,000,000& 30,000
o= 3HHAl Zedl=H4E 3t
22,000,000& 22,000
AL A (At 2e| ) 61,400 61,400 0
JlEZ3l 61,400 61,400 0
JlE2ztl 61,400 61,400 0
201 Let2d] 8,000 8,000 0
01 At 221l 8,000 8,000 0
oL+t 5,000,000& 5,000
o=l 3,000,000& 3,000
202 044l 50,400 50,400 0
01 = LH &4 1l 50,400 50,400 0
OZUH=EZ0HI 20,0003 x15H x 142 128 50,400
203 ¥R =&l 3,000 3,000 0
04 FEANSEHE=LH| 3,000 3,000 0
ORN2EHYRF=AHI 250,000& 128 3,000




